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1b. τ3s = 0.16 μs, τ3p = 5.2 ns and τ3d = 15 ns 
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2b. 1 1
6s 6p0.0562 cm ,  0.0084 cmA A    

2c. T = 7100 K 

3. First determine the quantum defect for the s-series. 10.1  1493956 cm  s ionE     

4a. 173.4 cm .    

4b. The intercombination arise because the state labeled 
3
P1 is actually a mixture of the 3p 

3
P1 and  

3p 
1
P1 LSJ-basis functions. 3 3 1 2 1 1

1 1 1 0 1( P ) P P  and 2s S 2s3p P  is allowed.a b     

5. See slides on the home page. 

6. See slides on the home page  

  


